3
/ e"dxr ="
0

Choose 1 answer:

®

f Inzdr =7
1

Choose 1 answer:

®

. 621'-;"?1-
3i/n

=

i/n

e —1

e—1 )
i




3)

n

51
li 4
Yim D 4+
1=

Choose 1 answer:

® [ Vi
:\/Ed:c
© ;ﬁdm
® m

n .
lim ) "In (2 Lo

i=1

Choose 1 answer:

5
@ /ln-xdm
0
o5
/ln;t?dm
2
@ /dlna?dm
0

@ /" Inzdz
2

5
29
n

dr



Which of the definite integrals is equivalent to the following limit?

5) lim ) 4. 5
n—+00 i1 T

Choose 1 answer:

@ /.45:rd::-:
0
.5
/4:rd:r
0
|
@ / bdx
0

©) /:4.;:;3

Which of the definite integrals is equivalent to the following limit?

- T i T
li . _t — ] —
nl{[:}o ; cos (2 + 2?’1) 2n

Choose 1 answer:

@ / cosz dr
w2
T/ 2

/ cosrdr
0

@ /D cosx dx

S /d
/ cosxdr
w2



The following graph shows a Riemann sum:

7)
Which of the following approximates the area between f(z) and the z-axis on the interval [—1, 3] using
a right Riemann sum with 4 equal subdivisions?

Choose 1 answer:

3

A > —li-1+7

=1

3

S (~[0.75i — 0.25 + 7) - 0.75

=1

4
© D (—[0.75 —1.75[ + 7) - 0.75
i=1

4

@ > -li-1+7

=1
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